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Answer all the questions.
Mathematical tables may be used in any question.

The use of non-programmable, silent and cordless calculator is allowed.

s lettered A to D. Find the coriect option for each question and shade

Each question is followed by four option h
ver space which bears the same letter as the option you have chosen.

in pencil, on your answer sheet, the ans
Give only one answer to each question. An example is given below.

The ages, in years, of four boys are-10, 12, 14 and 18. What is the average age of the boys?

A. 12years
B. -.w. years
C. 13 years

D. 13 W years
The correct answer is _ww years, which is lettered D, and therefore answer space D would be shaded.

[A] [B] (C] o=
Think carefully before you shade the answer spaces; erase completely any answer you wish to change.
Do all rough worl on this question paper.
|

Now, answer the following questions. |

A 407, t to 2 significant | /. 1'ciia
1. Mxvnomw 0.0000 correc g ke T u.a‘_x _w_ : p
gures. 11551 _;
A. 00
B. 0.00004 . y
_/C. 0.000041 A 4
W\ 0.0000407
»
2.  Ifxvaries inversely as y and y varies directly as Wx ~13
z, what is the relationship between x and z? 15
¢ =
A, xoz -
> B. xa W D. t |
. _ 15
.C. xozZ :
D. xa m_m
W04

4. |@|o]|1]23]4 ®(0|1[2(3 (4
0]0]|1(|2]3]4 0j0[O0[O|O]|O
Il1(2(3]4]o0 L [fo]1]2(3 )4
2(2)131410/(1 210)2(4]1 13
3(3]4]0]1 ]2 3 )10(3]1]4]2
4(4]0(1]2(3 41043211

Fig. 1 Fig. 2

Fig. 1 and Fig. 2 arc the addition and multiplication
tables respectively in modulo 5. Use these tables
to solve the equation (n ®4) ®3 =0(mod 5).
A 1

B. 2

C. 3

D. 4

5. Theages of Tunde and Ola are in the ratio 1:2. If
the ratio of Ola’s age to Musa’s age is 4:5, what
is the ratio of Tunde’s age to Musa’s age?

A 1:4

B. 1:5

G RS ‘

D. » §%2 3 4}

6. IfM={x:3<x<8}andN={x:8<x<I12},
which of the following is true?

. 8¢ MAN IL.8e MUN INILMNN=@
A. Ulonly
B. landIlonly
-C. Iland III only
D. L IlandIII
7. Given that @ = log 7 and b = log 2, express
log 35 in terms of @ and 5.
A. a+ b+1
B. ab-1
C—a-b+1
D. b-a+l
2 - X
8. Ifx= 3 and y = -6, evaluate xy —= .
X
A 0
_B s
C. 8
D. 9
2004

3
9. Solve the equation: = + k! =3,
5x  x
% 4
-
2
B, =
\.\‘M
g =
]
B, 2
5
10. A sum of N 18,100.00 was shared among 5 boys
and 4 girls with each boy taking N 20.00 more
than each girl. Find a boy’s share.
A N1,820.00
-~
B. ¥ 2,000.00
C. N2,020.00 3 ol
D. N2,040.00 o’
11.  One factor of 7x2 + 33x - 10 is

x -2,

\Ib\ Ix+5.
B.

12. Solve: -1 < w (Bx-2)<

o
\O [wy
A
=
A

=]
|
\© |eo
A
=
A

C. 7x-2.

-

D. x-5.

1
—

4

[EN] O |co

‘0[00 O juw O

13. Simplify: 3x—(p—x) = (r—p).
A, x-r
B. 2x+r

—

C. dx—r
D. 2x-2p-r

Turn over
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4.

16.

17

18

19.

Anarcof a circle of radius 7.5 cm is 7.5 em long.
Find, correct to the nearest degree, the angle
which the arc subtends at the centre of the circle.
2
[ Takew= =7 ].
A, 29°
B~ 57°
C. 65°
D. 115°
Water flows out of a pipe at a rate of 40x cm3
per second into an empty cylindrical container
of base radius 4 c¢m. Find the height of water in
the container after 4 seconds.
A 10cem
B. l4cm
C. 16cem
D. 20cm
The dimensions of a water tank are 13 cm, 10 cm
and 70 cm. Ifitis half-filled with water, calculate
the volume of water in Jitres.
A7 455 litres
B.  7.50litres
C. 8.10litres
D. 9.55 litres ’
If the total surface area of a solid hemisphere is
equal to its volume, find the radius.
A. 30cm
B~ 45¢cm
C. 50cm
D. 9.0cm
Which of the following is true about parallelograms?
A. Opposite angles are supplementary
B. Opposite angles are complementary
©r  Opposite angles are equal
D. Opposite angles are reflex angles
._.:m&mm_ua shows a circle centre O.
If ZSTR = 29° and ZRST = 46°, calculate the
value of ZST70.
A, 120
B. 15°
C.0 290
D. P
e 34

20.

X 0 Y

In the diagram, XY is a straight line,
ZLPOX = ZPOQ and ZROY = ZQOR.
Find the value of ZPOQ + ZROY.

A. 60°
B~ 90°

C. 100°

D. 120°

7
21 (’

ST

The diagram shows a circle centre O.
If ZZYW=33°, find £ZWX. ..
A.. 133°
B. 57°
.C. 90°
D. 100°

22.

In the diagram, PQ %:a PS are tangents to the
circle centre O. If ZPSQ = m, £SPQ = n and
ZSQOR =33, find the value of (m + n).

A, 103°

B. [23°

C. 133°

fO. 143° :

23. Om._nc_ma. the gradient (slope) of the line joining
points (-1, ]) and (2, -2).

24. If P(2, 3) and Q(2, 5) are points on a graph,
calculate the length PQ.

A. 6 units
B. 5units
C. 4units
D. 2 units

—_—

25. Abearing of 320° expressed as a compass bearing
is

‘

A. NS50° W
B. N40° W.
P
C. NSO°E
D. NA40°E.
26. Given that cos 30° = sin 60° = o and

H e

sin 30° = cos 60° = —, evaluate 478V —1 60°—1
2 1—tan30°

A -2
B. 2-.3
Q' 5

D. -2

27. A stationary boat is observed from a height of
i 100 m. If the horizontal distance between the
observer and the boat is 80 m, calculate, correct
to two decimal places, the angle of depression of
the boat from the point of observation.

A. 36.87°
B. 39.70°
C. 51.34°

~
D;. .3313°

28. Theaverage age of a group of 25 girls is 10 years.
If one girl, aged 12 years and 4 months joins the
group, find, correct to one decimal place, the new
average age of the group.

A. 10.1 ycars

9.3 years
8.7 years
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The bar chart shows the statistics of the number of
passes and failures in an examination in a school
from 2001 to 2004. What is the ratio of the total
number of passes to the total number of failures?
A. 60:13

X N
B. 10:3

G 5:1
D. 40:13

Marks 0 1 2 3 4 5
Frequency | 7 | 4 18] 12 8 11

The table gives the distribution of marks
obtained by a number of pupils in a class test.
Use this information to answer questions 30 and
31

30. Find the median of the distribution.
A. 4

31. Find the first quartile.
1.0
1.5
2.0

2.5

A.

O 0w

S~
B.
C.
D.

8.3 years

Turn over




37

38.

39.

40.

41.

P———
6
32. Inaclass of 45 students, 28 offer Chemistry and
25 offer Biology. If each student offers at least
one of the two subjects, calculate the probability
that a student selected at random from the class
ofters Chemistry only.
2
A. 5
4
B. 3
ol
9
s B
9
33. In what number base was'the addition
1 + nn=100, wheren > 0, done?
A. n-—1
B. n
G E
§: D n+2
34, simplify: V2 (V6 +22)-2V3.
\:\ 4 '
B. 3+4
C. 42
D. 443 +4
35. Three exterior angles of a polygon are 30°, 40°
and 60°. If the remaining exterior angles are 46°
each, name the polygon.
A. Decagon
B. Nonagon
C. Octagon
D. Hexagon
N
36 gk
T
00"
R
a S
In the diagram, NO/TS, £ZRTS = 50° and
ZPRT=100°. Find the value of ZNPR.
A, 110°
B. 130°
C. 140°
D. 150°

2,4 32 4

Simplify the expression i.
A. a2-p?
B. »-a2
C. a?b—ab? s .
D. ab2-a2
Find the 6'" term of the sequence:
2 .1 4
wv —MU HM~ e 3
A, =2

3
B ol

5
G

15
B, = ‘

5

The diagonal of a square is 60 c¢m. Calculate its
perimeter.

JA. 2042

4042

B.
c. 902 . ,
D.

12042 . :

The roots of a nr»m.ﬁ:o equation are lw
and W 2 E:m. the o.n:mmo:. . ,
A, 6x2—x+2=0

B. 6x2—-x-2=0

C. 6x2+x-2=0

D. 6x2+x+2=0 |

Make x the subject of the relation d = WIW .
A. xuh~.+mm.
&_ v\_ 7 [ |
B X"._ 24 wvicid Loiles 1
...‘ ' N&N.l\«\. i ' s 11
R R [ t
C: \«nmlm&n i WyE |
¥ AT 16 7 el !
D. x= 12 4 , _,
S+ BT o ! |
{

e

42.

43.

44.

46.

2004

Consider the statements:

pitis hot.

¢ : it is raining,

Which of the following symbols correctly
represents the statement “It is raining if and only
if it is cold”?

A pe—q

B. gep

C. ~po~q

D. g&-p

Given that £ =27, find 2** ! in terms of .

NS B )

A.
B.
C.
D.
68

22~Am x

Find the value of m in the diagram.
A, 72°

B. 68° ;
C. 44

D. 34°

Two bottles are drawn with replacement from
a crate containing 8 coke, 12 fanta and 4 sprite
bottles. What is the probability that the first is
coke and the second is not coke?

sl-

D.

®IW VOIN o~

If the simple interest on a certain E:.o..:: of

money saved in a bank for 5 years at 27 % per
annum is N500.00, calculate the total amount due
after 6 years at the same rate.

A. N 2,500.00

B. N 2,600.00

C. N 4,500.00

D. N 4,600.00 7

7

47. Calculate the variance of 2, 3, 3, 4, 5, 5, 5, T
7 and 9.
A, 22
B. 34
C. 4.0
D. 42

A circular pond of radius 4 1 has a path of width

48.
: 2.5 m round it. Find, correct to two decimal
22
places, the area of the path. [ Take & = 7 ]
A, 7.83m?
B. 3229 m?
C. 5029 m?
D. 82.50 m?
49,
HE £ ¥ 1 f i Hihs
i H i
i
1L
i
it
il
st i i
The graph of y = ax2 + bx + ¢ is shown in the
diagram. Find the minimum value of v.
A. 20
B. =21
c. -23
D. -25
50. ]
oA
R = T

In the diagram, RP is a diameter of the circle
RSP RP is produced to 7"and T is a tangent to
the circle at S. If ZPRS =24°, calculate the value
of £STR.

A, 24°

B. 42°
C. 48°
D. 66°

-
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